A%

, Hn =
. _ R (m) REAREFHFE) Hh R
BRI RER | HETRSA BARBRZOEE| EHES #% . ﬁiﬁ -
‘ ‘ HE 2B45A] fax ' S5 4$5H I EmiE
BN e g | BB i | (km2)
1|44 SEPHET  [4H/3@ TEG 3-344-2-068 20,581 . 488 4 0 0.01
2 |(FHR - |E=EPET . (M0 THER 3-344-2-069 20,935 84 4 0 0.01
3 |48 =EHT  |AH/H THE 3-344-2-070 16,041 602 5 0 0.15
4 R SEaa) /3 R =p) . |3-344-2-071 6,582 | 12 1} 0 0.05
5 [{F4R SEFET - [FH/E +ERE 3-344-2-072 8327 | - 2 0 0.07
6_| {7} SEET. IFg +5E - |3-344-1-009 18,358 164 12 0 0.09
7 [{R40 =EFET - IE +H5ikE 3-344-2-032 10,456 174 | 4 0. 0.12
8 |{FER =EHT  |E +HEHR 3-344-2-033-1 13,639 1,460 10 21 0.31
o [{F&R | EEFET - 5K 3-344-2-033-2 16,420 383 13 0 0.15
10 MBHR SEFET . iFE B 3-344-2-035 16,686 116 11 0 0.05
11|48 SEFET  |EE TER 3-344-2-036 6,493 | 39 |. 4, 0 0.01"
12 1{RER | EEFET (R TER 3-344-2-037 119 3. 0 0.01

6,422




ks

K & #f =
i (m) REAREF M (F) M E
&H5| REE | hETH A KF BARBRR O HES
' N | OB | SHEEERl | ZASS | FHAE
| ERRBN e | © BN soemmnl ) | C)
1 4740 Eaplr {8/ SMER MO IR | 1 ~3244 7,078 2,889 1 1 37 44,
2 {FEL = Pl /E SERIHOEE [1-1199 15,000 9,252 2 1 134 47
3 |{FHER = HPHT B/iE | BER O | T1-1200 4,048 _ 1,041 1 -0 129 37
4 |{FER | EIFET 1H/38 RSO AREE [ 1-1201 3,589 1,454 2 2 23| 44
5 |{F&R = BT ET /38 SEfIh ORI [ T-1202 4,264 1,613 2 0 15 46
6 | {48 = BPET 10./38 AMEAHOERE | T -1203 4,799 [ 2,598 27, i 45 42
- T|FA  |SEREr . |4H/58 SHERIMhOEIE |T-1204 6,442 2,984 2 1 44 43
8 |{F4) SETET . (M58 SO [ T-1205 5.641 2,074 3 2 32 44
9 [{FHR SEFET__ |#B/0E SEMHOEIE |T1-1206 4,019 1,942 al 2 62 37
10 [{RER [ =EpHT B/ SMERIHO R | -1207 11,961 8,849 e 1 102 36
11 {248 SEEr  |#/E BESMORE [I-1208 2,674 1,078 | 1 1 50 | 37
12 {78 EET B SERRDEIE | T-1146 1516 2816 -5 1 58 37
13| |[SHE & |RERIMOERE |1-1147 11,769 4,846 5 3 42 37
14 |17 EEFHT [ AMERIRh AR 11148 ' 2,430 910 2 0 19 42
15 [{F#R =E AT [l AlEgitho EAiE (I-1151 17,640 6,085 8| 4 39 45
16 |[{F#R SEE B SEfMORE |I-1152 10,889 4924 | 4 2 64 42
17 |{RER & EPHT 5 S{ERIOERE |T-1153 13,419 | 6,113 4 i 51 42
18 |{R4ER = EFHT N SERHDHEE | T-1197 15,011 8,360 4 2 63 37
19 [{FE0 = BT N AR HhD AR | T-1198 14,931 |. 9,308 3 1 84 42
20 {{F40 SEr (/8 AMERhO IR [ T-10240 3,980 3,153 1 1 111 4
21 {740 ESEH |/ AR O FHIR | T -10241 3,465 647 1 1 24 52
22 (R = PFHT #/58 SIERIM D EE | T-10242 748 207 | - 1 8 49
23 ({FE8 | =EET  HH/H AERMDEEE | 1-10243 17,390 14,516 1 1 145 3s
24 [(FEE |EEtET  [Fg AR ORI [ T-10028 11,193 | 5,704 9 i 86 38| .




